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1) Calculate:

Exam questions: 

25% of the students in a school have black hair. 

There are 1644 students in the school in total.

How many students have black hair?

a) 50% of 8

b) 50% of 44

c) 50% of 68

d) 50% of 40

i) 50% of 75

j) 50% of 83

k) 50% of 35

l) 50% of 51

e) 50% of 78

f) 50% of 58

g) 50% of 36

h) 50% of 124

2) Calculate:

a) 25% of 32

b) 25% of 60

c) 25% of 84

d) 25% of 44

i) 25% of 220

j) 25% of 52

k) 25% of 74

l) 25% of 122

e) 25% of 412

f) 25% of 196

g) 25% of 128

h) 25% of 332

3) Calculate:

a) 10% of 80

b) 10% of 50

c) 10% of 400

d) 10% of 250

i) 10% of 234

j) 10% of 44

k) 10% of 5.2

l) 10% of 29.3

e) 10% of 35

f) 10% of 48

g) 10% of 510

h) 10% of 142

4) Calculate:

a) 1% of 800

b) 1% of 200

c) 1% of 480

d) 1% of 320

i) 1% of 459

j) 1% of 23.4

k) 1% of 35.1

l) 1% of 10.2

e) 1% of 354

f) 1% of 384

g) 1% of 52

h) 1% of 125
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